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A. GENERAL
1. Please read the Instructions carefully, You are allotted 10

minutes specially for this purpose.
2. Blank papers, clip boards, log tables, slide rule, calculators,

mobiles or any other electronic instrument in any
form is “NOT PERMISSIBLE”.

3. Before starting the paper, fill up the required details in the blank
spaces provided in the answersheet.

4. Using a Blue/ Black Pen, darken the  circle on the OMR sheet.
5. DO NOT TAMPER WITH/MUTILATE THE OMR OR THE

BOOKLET.
6. No rough sheets will be provided by the invigilators. All the

rough work is to be done in the blank space povided in the
question paper.

B. FILLING THE RIGHT PART OF THE OMR
7. Write your Name and the Father’s name in the boxes provided

on the right part of the OMR. Do not write any of this
information anywhere else. Darken the appropriate circle under
each digit of your Roll Number and Test ID Number.

8. Do not fold or make any stray marks on the Answer Sheet.
9. On completion of the test, the candidate must hand over the

Answer Sheet & Test Booklet to the Invigilator on
duty in the Room / Hall.

10. Follow instructions by invigilator/Centre Superintendent (If
any).

11. Please fill in all the correct information on back page of this
paper.

C. QUESTION PAPER FORMAT :
This Question Paper consists of 60 objective type questions.

D. MARKING  SCHEME :
— 4 Marks will be awarded for each correct answer.
— 1 Mark will be deducted for each incorrect answer.
— 0 Marks will be awarded for unattempted questions
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v lkekU;
1 - dì;k funsZ”kksa dks /;kuiwoZd if<+,] blds fy, vkidks 10 feuV

fo”ks’k le; fn;k x;k gSA
2- [kkyh dkxt+] fDyi cksMZ] ykWx lkj.kh] LykbM :y] x.kd ;a=]

eksckby ;k fo|qr midj.k dks ys vkuk l[r euk gSA
3- iz”uksa dks gy djus ls igys mRrj i=d esa [kkyh txgksa dks Hkfj,]

tgk¡ lwpuk,¡ ek¡xh x;h gSaA
4- vks-,e-vkj- dkxt+ esa fn, x, xksyksa dks uhys@dkys dye ls

Hkfj,A
5- vks-,e-vkj- ;k iz”u iqfLrdk dks eksM+s ugha] QkM+s ughaA
6- d{k fujh{kd }kjk jQ dkxt+ iznku ugha fd;k tk,xkA lHkh jQ

dk;Z iz”u iqfLrdk esa fn, x, [kkyh txg ij dhft,A
c vks-,e-vkj- dh lgh Hkkx dks Hkjuk
7- vks-,e-vkj- “khV ds nkfgus rjQ fn, x, txg esa] viuk uke ,oa

vius firk dk uke fy[ksaA bl izdkj dh lwpuk  dgha vkSj u
fy[ksaA vius vuqØekad la[;k ds ,d&,d vad dks xksyk djsa vkSj
VsLV vkb-Mh- dh la[;k dks xksyk Hkfj,A

8 - mRrj if=dk dks eksM+s ugha] ;k dksbZ fpUg u yxk,A
9 - ijh{kk lEiw.kZ gksus ds ckn vH;FkhZ dks mRrj if=dk ,oa iz”u iqfLrdk

d{k fujh{kd dks lkSiuk gksxk tks fd ml le; dejs@gky esa vius
drZO;ksa dk fuoZgu dj jgs gksaxsA

10 - ;fn d{k fujh{kd@dsUnz v/kh{kd dksbZ funsZ”k nsrs gSa] rks mu funsZ”kksa
dk vuqlj.k dfj,A

11 - dì;k bl iz”u iqfLrdk ds ihNs lHkh lgh lwpukvksa dks Hkfj,A
l iz”u&i= izk:i

bl iz”u&i= esa 60 y?kqfodYih iz”u fn, x, gSaA
n vad iznku ;kstuk

Û izR;sd lgh mRrj ds fy, 4 vad fn, tk,xsaA
Û izR;sd xyr mRrj ds fy, 1 vad ?kVk fn, tk,xsaA
Û ;fn iz”u gy ugha fd, x,] rks “kwU; fn;k tk,xkA
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MOMENTUM TALENT SEARCH EXAM

1. Two blocks of masses 3m and 2m are in
contact on a smooth table. A force P is
first applied horizontally on block of
mass 3m and then on mass 2m. The
contact forces between the two blocks
in the two cases are in the ratio:

(A) 1 : 2 (B) 2 : 3
(C) 3 : 2 (C) 5 : 3

2. For a projectile thrown into air with a

speed (v) the horizontal range is 
23v

2g

and the vertical height is 
2v

8g . The angle

which the projectile makes with the
horizontal initiall is:
(A) 15º (B) 30º
(C) 45º (D) 60º

PART-I  (PHYSICS) Hkkx&I ¼HkkSfrd foKku½

1. 3m rFkk 2m nzO;eku ds nks CykWd fpduh
Vscy ij lEidZ esa gSA ,d cy P {kSfrt :Ik
ls igys 3m nzO;eku ds CykWd ij vkjksfir
fd;k tkrk gS rFkk fQj 2m nzO;eku ij
yxk;k tkrk gSA nksuksa voLFkkvksa esa nksuksa
CykWdksa ds e/; lEidZ cyksa dk vuqikr gksxk&

(A) 1 : 2 (B) 2 : 3
(C) 3 : 2 (C) 5 : 3

2. ,d iz{ks; dks gok esa pky (v) ls QSadrs gSa rks

bldh {kSfrt ijkl 
23v

2g  gS rFkk m/okZ/kj

Å¡pkbZ 
2v

8g  gS rks iz{ks; dks izkjfEHkd voLFkk

esa {kSfrt ls fdrus dks.k ij iz{ksfir fd;k
x;k gS&
(A) 15º (B) 30º
(C) 45º (D) 60º

Space for rough work
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MOMENTUM TALENT SEARCH EXAM
3. A block of mass 10 kg placed on rough

horizontal surface having coefficient of
friction µ = 0.5, if a horizontal force of
100 N acting on it then acceleration of
the block will be:
(A) 10 m/s2 (B) 5 m/s2

(C) 15 m/s2 (D) 0.5 m/s2

4. A body of mass m1 collides head on
elastically with a stationary body of mass
m2. If velocities of m1 before and after
the collision are v and –v/3 respectively
then the value of m1/m2 is:
(A) 1 (B) 2
(C) 0.5 (D) 4

5. A disc rolls down a plane of length L and
inclined at angle , without slipping. Its
velocity on reaching the bottom will be:

(A) 
4gLsin

3


(B) 
2gLsin

3


(C) 
10gLsin

7


(D) 4gLsin

3. 10 kg nzO;eku dk ,d CykWd [kqjnjh {kSfrt
lrg ij j[kk gS ftldk ?k’kZ.k xq.kkad µ =
0.5 gSA ;fn bl CykWd ij ,d 100 N dk
{kSfrt cy dk;Zjr gS rks bl CykWd ds Roj.k
dk eku gksxkA
(A) 10 m/s2 (B) 5 m/s2

(C) 15 m/s2 (D) 0.5 m/s2

4. m1 nzO;eku dk ,d fi.M vU; fLFkj
m2nzO;eku ds fi.M ls lEeq[k ,oa izR;kLFk
VDdj djrk gSA m1 nzO;eku ds fi.M dk
izkjfEHkd osx V ,oa VDdj ds i”pkr~ bldk
osx (–v/3) jg tk;s rks m1/m2 dk eku gksxk&
(A) 1 (B) 2
(C) 0.5 (D) 4

5. ,d pdrh fcuk fQlys  dksa.k ij >qds gq,
rFkk L yEckbZ ds ,d ry ds uhps yq<+drh
gSA ryh ij igq¡pus ij bldk osx gksxk&

(A) 
4gLsin

3


(B) 
2gLsin

3


(C) 
10gLsin

7


(D) 4gLsin

Space for rough work



      MOMENTUM Education Pvt. Ltd. : Betiahata Chowk, Gorakhpur.  PH.  6389138701 # 3

MOMENTUM TALENT SEARCH EXAM
6. On applying the load, the increment in

length of a wire is 1 mm. On applying
the same load on anther wire of same
length and material, but having half the
radius, the increment will be:
(A) 0.25 mm (B) 4.0 mm
(C) 0.5 mm (D) 2.0 mm

7. Water is flowing in a horizontal pipe of
non-uniform area of cross-section. The
velocity of water at a place, where the
radius of pipe is 0.01 m is 25m/s. What
will be the velocity of water where the
radius of pipe is 0.02 m?
(A) 7.25 m/s (B) 6.75 m/s
(C) 6.25 m/s (D) None of these

8. An incompressible fluid flows steabily
through a cylindrical pipe which has
radius 2R at point A and radius R at point
B further along the flow direction. If the
velocity at point A is v, its velocity at
point B will be:
(A) 2v (B) v
(C) v/2 (D) 4v

6. yksM yxkus ij rkj dh yEckbZ esa of̀) 1
feeh gSA leku /kkrq ds rkj ijUrq vk/kh
f=T;k ds rkj dh yEckbZ esa leku yksM ls
of̀) gksxhA
(A) 0.25 mm (B) 4.0 mm
(C) 0.5 mm (D) 2.0 mm

7. ,d vleku ifjPNsn okyh {ksfrt uyh esa nzo
cg jgk gSA ,d LFkku ij uyh dh f=T;k
0-01 ehVj rFkk nzo dk osx 25 ehVj@lsd.M
gSA ,d vU; LFkku ij tgk¡ uyh dh f=T;k
0-02 eh- gS] ogk¡ nzo dk osx fdruk gksxk\
(A) 7.25 eh-@lS- (B) 6.75 eh-@lS-
(C) 6.25 eh-@lS- (D) buesa ls dksbZ ugha

8. ,d vlaihM~; nzo ,d csyukdkj ikbZi esa ls
yxkrkj cgrk gS ftldh fcUnq A ij f=T;k
2 R gS rFkk cgus dh fn”kk esa vkxs fcUnq B
ij f=T;k R gSA ;fn bl nzo dk fcUnq A ij
osx v gS rks fcUnq B ij bldk osx gksxk&
(A) 2v (B) v
(C) v/2 (D) 4v

Space for rough work
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9. 1 gram of ice at 0ºC is converted to

steam at 100ºC. The amount of heat
required will be:
(A) 756 Calorie (B) 12000 Calorie
(C) 716 Calorie (D) 450 Calorie

10. An object is projected with a velocity of
20 m/s making an angle of 45º with
horizontal. The equation for the trajectory
is h = Ax – Bx2 where h is height, x is
horizontal distance, A and B are constant.
The ratio A : B is (g = 10 ms–2)
(A) 1 : 50 (B) 5 : 1
(C) 1 : 40 (D) 40 : 1

11. A force acts on a 30 gm particle in such
a way that the position of the particle as
a function of time is given by x = 3t – 4t2

+ t3, where x is in metres and t is in
seconds. The work done during the first
4 seconds is:
(A) 5.28 J (B) 450 mJ
(C) 490 mJ (D) 530 mJ

9. 0ºC rki ij 1 xzke cQZ dks 100ºC ds Hkki esa
ifjofrZr djus ds fy, fdruh Å’ek dh
vko’;drk gksxh&
(A) 756 dSyksjh (B) 12000 dSyksjh
(C) 716 dSyksjh (D) 450 dSyksjh

10. ,d fi.M dks {kSfrt ls 45º ds dks.k ij 20
ehVj@lSd.M ds osx ls iz{ksfir fd;k tkrk
gSA iz{ksi iFk dk lehdj.k h = Ax – Bx2 gS]
tgk¡ h m¡pkbZ] x {kSfrt nwjh rFkk A vkSj B
fu;rkad gSA A : B dk vuqikr gksxk (g = 10
ms–2)
(A) 1 : 50 (B) 5 : 1
(C) 1 : 40 (D) 40 : 1

11. 30 xzke ds ,d d.k ij ,d cy bl izdkj
dk;Z djrk gS fd le; ds Qyu ds :i esa
d.k fLFkfr x = 3t – 4t2 + t3 ls nh tkrh gS
tgk¡ x ehVj esa rFkk t lSd.M esa gSA izFke pkj
lSd.M esa fd;k x;k dk;Z gksxkA
(A) 5.28 J (B) 450 mJ
(C) 490 mJ (D) 530 mJ

Space for rough work
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MOMENTUM TALENT SEARCH EXAM
12. The force acting on a 4gm mass in the

potential field U = 8x2 at x = –2cm is:
(A) 8 dyne (B) 4 dyne
(C) 16 dyne (D) 32 dyne

13. A ball is allowed of fall from a height 1.0
m. If the value of the coefficient of
restitution is 0.6, then after the impact
ball will go up to:
(A) 0.16 m (B) 0.36 m
(C) 0.40 m (D) 0.60 m

14. A ring and a solid sphere of same mass
and radius are rotating with the same
angular velocity about their diameteric
axes then:
(A) it is easier to stop the ring
(B) it is easier to stop the solid sphere
(C) it is equally difficult to stop both of them
(D) it is not possible to stop a rotating body

12. foHko (Potential) {ks= U = 8x2 esa x = –2
lseh- fcUnq ij j[ks 4 xzke ds nzO;eku ij
dk;Zjr cy dk eku gksxkA
(A) 8 MkbZu (B) 4 MkbZu
(C) 16 MkbZu (D) 32 MkbZu

13. ,d xsan 1-0 ehVj Å¡pkbZ ls iFoh ij fxjkbZ
tkrh gSA ;fn izR;koLFkku xq.kkad 0-6 gks rks
VDdj ds ckn xsan fdl Å¡pkbZ rd Åij
mBsxh&
(A) 0.16 m (B) 0.36 m
(C) 0.40 m (D) 0.60 m

14. leku nzO;eku vkSj f=T;k dh ,d oy; vkSj
,d Bksl xksyk muds O;kl v{k ds ifjr%
leku dks.kh; osx ls ?kw.kZu djrs gSa rc&
(A) oy; ds :dus esa vklkuh gksrh gSA
(B) Bksl xksys ds :dus esa vklkuh gksrh gSA
(C) nksuksa ds :dus esa leku :i ls dfBurk
gksrh gSA
(D) ?kw.kZu djrh gqbZ oLrq dks jkduk laHko ugha gSA

Space for rough work
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15. If the length of the day is T, the height of

that TV satellite above the earth’s surface
which always appears stationary from
earth, will be: (R = radius of earth, M =
Mass of earth, G = Gravitational
constant)

(A) 
1/32

2
4 GMh

T
 

  
 

(B) 
1/2

2

4 GMh R
T
    

(C) 

1/32

2
GMTh R

4
 

   

(D) 
1/32

2
GMTh R

4
 

   

16. The velocity-time diagram of a harmonic
oscillator is shown in figure. The
frequency of oscillation is:

(A) 25 hz (B) 12.25 hz
(C) 50 hz (D) 33.3 hz

15. ;fn fnu dh yEckbZ T gksa] rks TV mixzg tks
fd iF̀oh lrg ds Åij] iF̀oh ls lnSo fLFkj
fn[kkbZ nsrk gS] dh iF̀oh dh lrg ls Å¡pkbZ
gksxh ¼R ¾ iF̀oh dh f=T;k] M ¾ iF̀oh dk
nzO;eku] G ¾ xq:Roh fu;arkd½&

(A) 
1/32

2
4 GMh

T
 

  
 

(B) 
1/2

2

4 GMh R
T
    

(C) 

1/32

2
GMTh R

4
 

   

(D) 
1/32

2
GMTh R

4
 

   

16. ,d lukanh nksfy= dk osx&le; vkjs[k
n”kkZ,uqlkj gSA nksyu dh vkofÙk gksxh&

(A) 25 hz (B) 12.25 hz
(C) 50 hz (D) 33.3 hz

Space for rough work
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MOMENTUM TALENT SEARCH EXAM
17. ,d d.k H Å¡pkbZ ls NksM+k tkrk gSA fdlh

fuf”pr Å¡pkbZ ij] bldh xfrt ÅtkZ] bldh
fLFkfrt ÅtkZ dh nqxuh gSA ml {k.k ij
d.k dh Å¡pkbZ rFkk pky gksxhA

(A) 
H 2gH,
3 3 (B) 

H gH,2
3 3

(C) 
2H 2gH,
3 3 (D) 

H , 2gH
3

18. ,d fLizax ls yVdk, x, ,d nzO;eku dk
vkorZ dky T gSA ;fn fLizax dks pkj leku
Hkkxksa esa ck¡Vk tk, vkSj mlh nzO;eku dks ,d
Hkkx ls yVdk;k tk,] rc u;k vkorZ dky
gksxk&

(A) 
T
4

(B) T

(C) 
T
2

(D) 2T

17. A particle is released from a height H. At
certain height its kinetic energy is two
times its potential energy. Height and
speed of particle at that instant are:

(A) 
H 2gH,
3 3 (B) 

H gH,2
3 3

(C) 
2H 2gH,
3 3 (D) 

H , 2gH
3

18. The time period of a mass suspended
from a spring is T. If the spring is cut
into four equal parts and the same mass
is suspended from one of the parts, then
the new time period will be:

(A) 
T
4

(B) T

(C) 
T
2

(D) 2T

Space for rough work
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19. A child is sitting on a swing. Its minimum

and maximum heights from the ground
is 0.75 and 2 m respectively, its maximum
speed will be:
(A) 10 m/s (B) 5 m/s
(C) 8 m/s (D) 15 m/s

20. A disc of mass M and radius R rolls on
a horizontal surface and then rolls up an
inclined plane as shown in the figure. If
the velocity of the disc is v, the height to
which the disc will rise will be:

(A) 
23v

2g (B) 
23v

4g

(C) 
2v

4g (D) 
2v

2g

19. ,d cPpk >wys ij >wy jgk gSA ;fn Hkwfery
ls >wys dh U;wure Å¡pkbZ 0-75 ehVj o
vfèkdre Å¡pkbZ 2 ehVj gS] rks mldh vfèkdre
pky gksxh&
(A) 10 m/s (B) 5 m/s
(C) 8 m/s (D) 15 m/s

20. M nzO;eku vkSj R f=T;k dh ,d pdrh ,d
{kSfrt lrg ij yq<+drh gS rFkk fQj
fp=kuqlkj ,d ur ry ij Åij yq<+drh gSA
;fn pdrh dk osx v gS rc og Å¡pkbZ tgk¡
rd pdrh p<+sxh] gksxh&

(A) 
23v

2g (B) 
23v

4g

(C) 
2v

4g (D) 
2v

2g
Space for rough work
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MOMENTUM TALENT SEARCH EXAM

21. The magnetic moment of a transition
metal ion is found to be 3.87 B.M. The
number of unpaired electrons present
in it is :
(A) 2 (B) 3
(C) 4 (D) 5

22. Which of the following does not show
electrical conduction?
(A) diamond (B) graphite
(C) sodium chloride (fused)
(D) potassium

23. T-type of shape is exhibited by the
molecule :
(A) ICl3 (B) CHCl3
(C) CCl4 (D) PCl5

PART-II (CHEMISTRY) Hkkx&2¼jlk;u foKku½

21. laØe.k /kkrq vk;uksa dk pqEcdh; vk?kw.kZ
3.87 B.M ik;k tkrk gSA buesa mifLFkr
v;qfXer bysDVªkWuksa dh la[;k gS %
(A) 2 (B) 3
(C) 4 (D) 5

22. fuEu esa ls dkSu oS|qr pkydrk iznf”kZr
ugha djrk gS \
(A) ghjk (B) xszQkbZV
(C) lksfM;e DyksjkbM ¼xkfyr½
(D) iksVsf”k;e

23. fdl v.kq }kjk T-uqek vkd`fr n”kkZ;h tkrh
gS %
(A) ICl3 (B) CHCl3
(C) CCl4 (D) PCl5

Space for rough work
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24. The following equilibrium are given :

N2 + 3H2 2NH3 ........K1
N2 + O2 2NO ........K2

H2 + 1
2  O2 H2O ........K3

The equilibrium constant of the reac-
tion 2NH3 + 5/2 O2 2NO + 3H2O,
in terms of K1, K2 and K3 is :

(A) 1 2

3

K K
K (B) 

2
1 2

2

K K
K

(C) 
3

2 3

1

K K
K (D) K1K2K3

25. Which of the following hydrocarbon
does not have structural isomers ?
(A) C4H6 (B) C6H14
(C) C3H8 (D) C3H6

24. fuEu lkE; fn;s x;s gS %
N2 + 3H2 2NH3 ........K1
N2 + O2 2NO ........K2

H2 + 1
2  O2 H2O ........K3

vfHkfØ;k 2NH3 + 5/2 O2 2NO +
3H2O dk lkE; voLFkk fLFkjkad K1, K2
rFkk K3 ds inksa esa gksxk %

(A) 1 2

3

K K
K (B) 

2
1 2

2

K K
K

(C) 
3

2 3

1

K K
K (D) K1K2K3

25. fuEu esa ls dkSu lk gkbMªksdkcZu lajpukRed
leko;oh ugha j[krk gS \
(A) C4H6 (B) C6H14
(C) C3H8 (D) C3H6

Space for rough work
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26. Which is most acidic ?

(A) (B) 

(C) (D) 

27. Which of the following acid-base re-
action is not feasible ?
(A) CH CH Na  
(B) 2 5 2C H OH NaNH 

(C) +NACHO3

(D) CH3COOH + + NaOH

26. dkSu lk lokZf/kd vEyh; gS \

(A) (B) 

(C) (D) 

27. fuEu esa ls dkSu lh vEy&{kkj vfHkfØ;k
lEHko ugha gS \
(A) CH CH Na  
(B) 2 5 2C H OH NaNH 

(C) +NACHO3

(D) CH3COOH + + NaOH

Space for rough work
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28. Which of the following compound is

most basic?

(A)  (B) 

(C) (D) 

29. The enthalpy of formation for C2H4
(g), 24 CO2 (g) and H2O (I) at 25°C
and 1 pressure by 52, – 394 and – 286
kJ mol–1 respectively. The enthalpy of
combustion of C2H4 (g) will be
(A) + 1412 kJ mol–1

(B) – 1412 kJ mol–1

(C) + 141.2 kJ mol–1

(D) – 141.2kJ mol–1

28. fuEufyf[kr esa ls dkSu l lokZf/kd {kkjh;
gS \

(A)  (B) 

(C) (D) 

29. C2H4 (g), 24 CO2 (g) rFkk H2O (I) dh
rki rFkk 1 ok;qe.Myh; nkc ij fuekZ.k
dh ,UFkSYih Øe”k% 52, – 394 rFkk – 286
kJ mol–1 gSA C2H4 (g) ds ngu dh ,UFksyh
gksxh &
(A) + 1412 kJ mol–1

(B) – 1412 kJ mol–1

(C) + 141.2 kJ mol–1

(D) – 141.2kJ mol–1

Space for rough work
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30. The basic strength of which hydrox-

ide is maximum?
(A) LiOH (B) NaOH
(C) CsOH (D) KOH

31. Equilibrium constant for the reactions,
2N O  +  O 2   2NO2 is 

1CK ;

NO2 + SO2   SO3 + NO is 
2CK  and

2SO3   2SO2 + O2 is 
3CK

then correct reaction is
(A) 

3 1 2C C CK K K 

(B) 3 1 C2

2
C CK K K 1  

(C) 
3 1 2C C CK K K 1  

(D) 3 C 21

2
C CK K K 1  

30. fuEu esa ls fdl gkbMªkWDlkbM dk {kkjh;
lkeF;Z vf/kdre gS\
(A) LiOH (B) NaOH
(C) CsOH (D) KOH

31. vfHkfØ;kvksa ds fy, lkE;koLFkk fLFkjkad

2NO + O2   2NO2 1CK gS %

NO2 + SO2   SO3 + NO  
2CK  gS %

rFkk 2SO3   2SO2 + O2 3CK  gS %
rc lgh lEcU/k gS %

(A) 
3 1 2C C CK K K 

(B) 3 1 C2

2
C CK K K 1  

(C) 
3 1 2C C CK K K 1  

(D) 3 C 21

2
C CK K K 1  

Space for rough work
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32. When N2 is converted into NH3, the

equivalent weight of nitrogen will be:
(A) 1.67 (B) 2.67
(C) 3.67 (D) 4.67

33. The heat of combustion of carbon to
CO2 is –393.5 kj/mol. The heat released
upon formation of 35.2 g of CO2 from
carbon and oxygen gas is :
(A) –630 kJ (B) –3.15 kJ
(C) –315 kJ (D) +315 kJ

34. For endothermic reaction when change
in entropy is negative, then reaction is
(A) not possible at any temperature
(B) possible at low temperature
(C) possible at all temperature
(D) possible at high temperature

32. tc N2 dks NH3 ifjofrZr fd;k tkrk gS]
rks ukbVªkstu dk rqY;kadh Hkkj fuEu gksxk%
(A) 1.67 (B) 2.67
(C) 3.67 (D) 4.67

33. dkcZu ds CO2 esa ngu dh Å’ek –393.5
kj/mol gSA dkcZu rFkk vkWDlhtu xSl ls
35.2 g of CO2 ds fuekZ.k ij eqDr Å’ek
gksxh %
(A) –630 kJ (B) –3.15 kJ
(C) –315 kJ (D) +315 kJ

34. Å’ek”kks’kh vfHkfØ;k ds fy, ,UVªksih esa
ifjorZu _.kkRed gksrk gS rks vfHkfØ;k
(A) lHkh rkiksa ij lEHko ugha gksrh
(B) fuEu rki ij lEHko gksrh gS
(C) rkiksa ij lEHko gksrh
(D) mPp rki ij lEHko gksrh gS

Space for rough work
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35. A 50 ml solution of strong acid of pH

= 1 is mixed with a 50 ml solution of
strong acid of pH = 2. The pH of the
mixture will be nearly (log 5.5 = 0.74)
(A) 0.74 (2) 1.26
(C) 1.76 (D) 1.5

36. Heat of hydrogenation of ethene is x1
and that of benzene is x2. Hence, reso-
nance energy is:
(A) x1 – x2 (B) x1 + x2
(C) 3x1 – x2 (D) x1 –3x2

37. No. of visible lines when an electron
return from 5th orbit to ground state in
H spectrum:
(A) 5 (B) 4
(C) 3 (D) 10

35. pH = 1 ds ,d izcy vEy ds 50 ml
foy;u dks pH = 2 ds ,d izy; vEy 50
ml foy;u ds lkFk feyk;k x;k gS rks
feJ.k dh pH yxHkx gksxh (log 5.5 =
0.74)
(A) 0.74 (2) 1.26
(C) 1.76 (D) 1.5

36. ,Fkhu dh gkbMªkstuhdj.k Å’ek x1 rFkk
csUthu dh x2 gS blfy, vuqukn ÅtkZ gSA
(A) x1 – x2 (B) x1 + x2
(C) 3x1 – x2 (D) x1 –3x2

37. gkbMªkstu LisDVªe esa tc bySDVªkWu ikWpoh
d{kk ls ewy voLFkk esa okil vkrk gS rks
n”̀; js[kkvksa dh la[;k gSA
(A) 5 (B) 4
(C) 3 (D) 10

Space for rough work
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38. leku ifjfLFkfr;ksa esa nks xSlksa esa v.kqvksa dh

la[;k leku gSA os fuf”pr :i ls &
(A) ukscy xSl gS
(B) leku vk;ru dh gS
(C) izR;sd dk 22.4 dm3 vk;ru gksxk
(D) ijek.kqvksa dh leku la[;k j[krh gS

39. 64 g dkcfuZd ;kSfxd ftlesa 24 g dkcZu
vkSj 8 g gkbMªkstu rFkk “ks’k vkWDlhtu gSA
;kSfxd dk ewykuqikrh lw= gksxk %
(A) CH4O (B) CH2O
(C) C2H4O (D) None

40. fuEu esa ls dkSulk ,d vf/kdre vk;fud
y{k.k j[krk gS\
(A) NaCl (B) KCl
(C) CaCl2 (D) MgCl2

38. Under the same conditions, two gases
have the same number of molecules.
They must
(A) be noble gases
(B) have equal volumes
(C) have a volume of 22.4 dm3 each
(D) have an equal number of atoms

39. 64 g of an organic compound has 24 g
carbon and 8 g hydrogen and the rest
is oxygen. The empirical formula of
the compound is
(A) CH4O (B) CH2O
(C) C2H4O (D) None

40. Out of following which one has maxi-
mum ionic character–
(A) NaCl (B) KCl
(C) CaCl2 (D) MgCl2

Space for rough work
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41. If A1, A2, A3 ........ are in A.P. then

 
2n

i i i 1

i 1 i i 1

A A1
A A



 

 
   

  is equal to

(A) 2n –1
(B) n –1
(C) –2n
(D) n + 2

42. Set of all real values of p such that
both the roots of the equation (p –5)x2

– 2px + (p – 4) = 0 are positive one is
less than 2 and other is lying between
2 and 3 is

(A) 
49 ,24
4

 
 
 

(B) (4, 24)

(C) (– ,4) 
49 ,
4

  
 

(D) 
494,
4

 
 
 

PART-III (MATHEMATICS) Hkkx&3 ¼xf.kr½

41. ;fn A1, A2, A3 ........ lekUrj Js<+h esa gS]

 
2n

i i i 1

i 1 i i 1

A A1
A A



 

 
   

  rc cjkcj gS&

(A) 2n –1
(B) n –1
(C) –2n
(D) n + 2

42. p ds lHkh okLrfod ekuksa dk leqPp; gksxk
tcfd lehdj.k (p –5)x2 – 2px + (p –
4) = 0 ds ewy /kukRed gS ftlesa ls ,d
ewy 2 ls de gS rFkk nwljk ewy 2 vkSj 3
ds e/; fLFkr gS&

(A) 
49 ,24
4

 
 
 

(B) (4, 24)

(C) (– ,4) 
49 ,
4

  
 

(D) 
494,
4

 
 
 
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43. Solution of inequality [x]2 – 9[x] – 52

< 0 is [a, b). Find b + 2a (where [.]
denotes greatest integer function)
(A) 3 (B) 5
(C) 7 (D) 9

44. The locus of P(x,y) such that
2 2 2 2x y 8y 16 x y 6x 9      

= 5 is
(A) point
(B) line
(C) finite line segment
(D) infinite ray

43. vlfedk [x]2 – 9[x] – 52 < 0 dk gy
[a, b) gS rc b + 2a dk eku Kkr dhft,
¼tgk¡ [.] egÙke iw.kkZad Qyu gS½
(A) 3 (B) 5
(C) 7 (D) 9

44. P(x,y) dk fcUnqiFk bl çdkj gS fd
2 2 2 2x y 8y 16 x y 6x 9      

= 5 gS
(A) fcanq
(B) js[kk
(C) ifjfer js[kk [kaM
(D) vuar fdj.k

Space for rough work



      MOMENTUM Education Pvt. Ltd. : Betiahata Chowk, Gorakhpur.  PH.  6389138701 # 19

MOMENTUM TALENT SEARCH EXAM
45. P is any point on the parabola,

y 2 = 4ax whose vertex is A. PA is
produced to meet the directrix in D &
M is the foot of the perpendicular from
P on the directrix. The angle subtended
by MD at the focus is:
(A) / 4 (B) / 3
(C) 5 /12 (D) / 2

46. The solution set of the inequality

max  21 x , x 1 1    is

(A)    ,0 1,  

(B)    ,0 2,  
(C)  (0, 2)
(D)   (–1, 1)

45. ijoy; y2 = 4ax ftldk “kh’kZ A gS] ij
,d fcUnq P fLFkr gSA PA dks c<+kus ij ;g
fu;rk dks fcUnq D ij feyrh gS rFkk P ls
fu;rk ij yEc dk ikn gS MA MD }kjk
ukfHk ij cuk;k x;k dks.k gksxk&
(A) / 4 (B) / 3
(C) 5 /12 (D) / 2

46. vlfedk max  21 x , x 1 1    dk gy

leqPp; gS &

(A)    ,0 1,  

(B)    ,0 2,  
(C)  (0, 2)
(D)   (–1, 1)

Space for rough work
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47. The solution set of inequality

     
      

2005 2008

3 5 20102006

x 5 . x 8 1 x
0

x x 2 . x 3 . x 6 x 9
  


   

is:
(A)        , 9 8,0 0,1 2,3 [5,6)      

(B)        , 9 9,0 0,1 2,3 (5,6)      

(C)        , 9 9,0 0,1 2,3 [5,6)      

(D)      ,0 0,1 2,3 [5,6)   

48. Number of positive solution which
satisfy the equation log2 x.log4x.log6x
= log2x .log4x + log4x .log6x + log6x
.log2 x is
(A) 0 (B) 1
(C) 2 (D) infinite

47. vlfedk

     
      

2005 2008

3 5 20102006

x 5 . x 8 1 x
0

x x 2 . x 3 . x 6 x 9
  


   

dk gy leqPp; gS &
(A)        , 9 8,0 0,1 2,3 [5,6)      

(B)        , 9 9,0 0,1 2,3 (5,6)      

(C)        , 9 9,0 0,1 2,3 [5,6)      

(D)      ,0 0,1 2,3 [5,6)   

48. lehdj.k log2 x.log4x.log6x = log2x
.log4x + log4x .log6x + log6x .log2 x dks
lUrq’V djus okys /kukRed gyksa dh la[;k&
(A) 0 (B) 1
(C) 2 (D) vuUr
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49. If x 1 y y 1 x 0,     then 
dy
dx  is

equal to

(A)  2
1

1 x (B)  2
1

1 x




(C)  2

1
1 x (D)  

1
1 x

50. 18 points are indicated on the perimeter
of a triangle ABC (see figure). If three
points are choosen probability that it
will form a triangle:-

(A) 
331
816

(B) 
1
2

               

(C) 
355
408

(D) 
711
816

49. ;fn x 1 y y 1 x 0,     gks] rks 
dy
dx

cjkcj gS &

(A)  2
1

1 x (B)  2
1

1 x




(C)  2

1
1 x (D)  

1
1 x

40. fn, x, fp=kuqlkj f=Hkqt ABC ds ifjeki
ij 18 fcUnq gSA ;fn buesa ls rhu fcUnq pqus
tkrs gS] rks buds f=Hkqt cukus dh izkf;drk
gS&

(A) 
331
816

(B) 
1
2

               

(C) 
355
408

(D) 
711
816
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51. Solve: –

2 2x 2x x 4 x 3x 4     

(A) x (0,2) (4, ) 
(B)  x (0,2] (4, ) 
(C) x [0,2] [4, ) 
(D) x (0,2) (5, ) 

52. Orthocentre on an acute triangle ABC
is at the origin and its circumcentre has

the co-ordinates 
1 1,
2 2

  
 

. If the base

BC has the equation 4x –2y = 5, then
the radius of the circle circumscribing
the triangle ABC, is

(A) 
5
2

(B)  3

(C) 
3
2 (D) 6

51. gy dhft;s &
2 2x 2x x 4 x 3x 4     

(A) x (0,2) (4, ) 
(B)  x (0,2] (4, ) 
(C) x [0,2] [4, ) 
(D) x (0,2) (5, ) 

52. ,d U;wudks.k f=Hkqt ABC dk yEc dsUnz
ewy fcUnq gS rFkk ifjdsUnz ds funsZ”kkad

1 1,
2 2

  
 

 gSa ;fn vk/kkj BC dh lehdj.k

4x –2y = 5 gS] rks f=Hkqt ABC ds ifjxr
oÙ̀k f=T;k gksxh&

(A) 
5
2

(B)  3

(C) 
3
2 (D) 6
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53. The sum of first 100 terms common

to the series 17, 21, 25, ..... & 16, 21,
26..... is
(A) 101100 (B) 111000
(C) 110010 (D) 100101

54. If 1x  and 2x  are the means of two

distributions such that 1x  < 2x  and x
is the mean of the combined distribution
then
(A) 1x x (B) 2x x

(C) 1 2x x
2


(D) 1 2x x x 

55. A circle with centre in the first quadrant
touch y = x + 10, y = x – 6 and the
y–axis. Let (h, k) be the centre of the
circle. If the value of (h + k) = a + b a
where (a, b  Q), then the value of
(A) a + b = 10 (B) b – a = 6
(C) a × b = 16 (D) a × b = –16

53. Jsf.k;ksa 17, 21, 25, ..... vkSj 16, 21, 26.....
ds izFke 100 mHk;fu’B inksa dk ;ksxQy
gS&
(A) 101100 (B) 111000
(C) 110010 (D) 100101

54. ;fn nks caVuksa ds ek/; 1x  ,oa 2x  bl

izdkj gks fd 1x  < 2x  rFkk x  la;qDr

caVu dk ek/; gS] rks

(A) 1x x (B) 2x x

(C) 1 2x x
2


(D) 1 2x x x 

55. ,d oÙ̀k] tks ljy js[kkvksa y = x + 10,
y = x – 6 rFkk y–v{k dks Li”kZ djrk gS]
dk dsUnz izFke prqFkkZa”k esa gSA ekuk òRr dk

dsUnz (h, k) gSaA ;fn (h + k) = a + b a
gks ¼tgk¡ a, b  Q) rks&
(A) a + b = 10 (B) b – a = 6
(C) a × b = 16 (D) a × b = –16
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56. If 349 (x + iy) = 

100
3 3 i
2 2

 
 

 
 and

x = ky then k is
(A) –1/3 (B) 3

(C) 3 (D) 
1
3



57. An ellipse 
2 2

2 2
x y 1
a b

   passes through

the point (–3, 1) and its eccentricity is

2
5 . The equation of the ellipse is

(A) 3x2 + 5y2 = 32
(B) 3x2 + 5y2 = 48
(C) 5x2 + 3y2 = 32
(D) 5x2 + 4y2 = 48

56. ;fn 349 (x + iy) = 

100
3 3 i
2 2

 
 

 
 rFkk

x = ky rc k gS&
(A) –1/3 (B) 3

(C) 3 (D) 
1
3



57. fcUnq (–3, 1) ls xqtjus okys ,oa 
2
5

mRdsUnzrk okys nh?kZoÙ̀k 
2 2

2 2
x y 1
a b

   dk

lehdj.k gS&
(A) 3x2 + 5y2 = 32
(B) 3x2 + 5y2 = 48
(C) 5x2 + 3y2 = 32
(D) 5x2 + 4y2 = 48

Space for rough work



      MOMENTUM Education Pvt. Ltd. : Betiahata Chowk, Gorakhpur.  PH.  6389138701 # 25

MOMENTUM TALENT SEARCH EXAM
58.  The sides of a triangle are 8 cm, 10

cm and 12 cm. Then the greatest angle
is
(A) Triple of the smallest angle
(B) Double of the smallest angle
(C) 1.5 times of smallest angle
(D) None of these

59. For hyperbola x2 2 2sec y  cosec2 = 1
which of the following remains constant with
change in ‘’
(A) abscissae of vertices
(B) abscissae of foci
(C) eccentricity
(D) directrix

60. If 2sin 2x 2cos x4   + 21 sin 2x 2sin x4    = 65, then
(sin 2x + cos 2x) has the value equal
to :
(A) –1 (B) 2
(C) 2 (D) Cos2

58. f=Hkqt dh Hkqtk,sa Øe”k% 8 lseh-] 10 lseh-
vkSj 12 lseh- gS] rks vf/kdre dks.k gS&
(A) lcls NksVs dks.k dk rhu xquk
(B) lcls NksVs dks.k dk nksxquk
(C) lcls NksVs dks.k dk 1.5 xquk
(D) buesa ls dksbZ ugha

59. vfrijoy; x2 2 2sec y  cosec2 = 1
ds fy, esa ifjorZu djus ij fuEufyf[kr
esa ls fdldk eku vpj jgrk gS\
(A) “kh’kksZ ds Hkqt dk
(B) ukfHk ds Hkqt dk
(C) mRdsUnzrk dk
(D) fu;rk dk

60. ;fn 2sin 2x 2cos x4   + 21 sin 2x 2sin x4    = 65
gks] rks (sin 2x + cos 2x) dk eku gS&
(A) –1 (B) 2
(C) 2 (D) Cos2

Space for rough work
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IMPORTANT INFORMATION

MTSE RESULT DECLARATION

REGULAR CLASSES ANNOUNCEMENT (SESSION : 2024-25)

BATCH STARING DATEADMISSION CUM
SCHOLARSHIP TEST (ACST)

ACST PHASE-1
11th FEB 2024 (SUNDAY) 10 AM to 1 PM

For Class VII, VIII, IX, X, XI & XII Moving Students

Class: 7th, 8th, 9th & 10th        (2nd Week of March 2024)

Class: 12th                      (Second Week of March 2024)

Class : 11th                 (To be announced after Board Exam)

for details Contact at office

SCHOOL INTEGRATED PROGRAMME (SIP)

Class 9th, 10th, 11th & 12th Moving students
Save Your Time for Self Study!

Join Our School Integrated Programme (SIP)

 School + Coaching = MOMENTUM

Benefits:      More time for self  study. Coaching Classes in Morning hours
     Classes of English/Physical Eduction, Hindi & Social Science will run at Momentum Classrooms.

MOMENTUM
ABOVE AXIS BANK, BETIAHATA CHOWK, GORAKHPUR.  PH. 6389138701, 02

 Date of Result Declaration: 24th DECEMBER 2023 (SUNDAY)

 Mode: (i)  You can get information of your result telephonically or you can visit momentum office.
        (ii)  You will also be informed about your result by call.

 COUNSELING:  After result declaration Momentum executive will call you and invite you with
                                   your ward for counseling.

Class - 7th & 8th :  07 Jan. 2024 Class - 9th :  08 & 09 Jan. 2024
Class - 10th :  11 & 12 Jan. 2024 Class - 11th :  13 & 14 Jan. 2024
Rest All :  15 Jan. 2024

COUNSELING DATES

E. QUESTION PAPER FORMAT
The question paper consists of 3 parts I, II & III  Physics, Chemistry & Maths respectively.

F. MARKING SCHEME
There are four parts in the question paper. The distribution of marks subjectwise in each part is as under
for each correct response :

PART SUBJECT QUESTION NO. MARKS
Part - I PHYSICS      01 to 20      4
Part - II CHEMISTRY      21 to 40      4
Part - III MATHS      41 to 60      4
You must fill the bubble in OMR in following manner. For example if only ‘b’ choice is correct then

 A  B  C  D

If you fill the bubble for any option other than the correct option then, your response will be considered
incorrect. 1/4 (one four) of allotted marks i.e. 1 mark if a question carries 4 marks will be deducted for
indicating incorrect response of each question. No. deduction from the total score will be made if no
response is indicated for a question in the answer sheet.


